BAES—(1H—-0B HxR

K1 EXNRIHIEEEBORE1EMOTLS
LHDELEENRTHEREIL(XK)

FHE(X2) RIE1ERDTELS HERKLE

%

%

%

%

BB B B XH

%

tE2AKDTLES = 100%

X1 A1 EMDOFELEENRADFER (E-5FKB) ERLH. THOIFREEERETHILASDE,
K2 RBHICIK. BATWSERNRISETOER(BAREEX N EOMAI BES LHIBEEBRR ) ZLH.

£2. BESHAMOELS ( £ B~ £ B)
T -2EHEORE3NAMOELS [A] M
SELKORA3NAMOFE LS [A"] =
£3. HHIAOFINLRBREOEEE S HEMRHO3H BHOE LS

( £ A~ £ B)
TEARMOFLANT DN ABREORSER | -
HAERASO3MARMOE LS
EXLROHRANS YALABREOREER | -
HAERRASEOIN AROELS

(1N EHBEEORD E

[B] — [A) e
(5] X100 = % (UM A E 2 U TEYIYIZT)
)T EL2ADF D E
[B] — [A’] o
(5] X100 = % (DS E 2L TEYIYIZT)

CERERFBICH->TIE. T-2FBICETIFXEEEATODIEANHBATELEEF (FIZ L MYZ T DR A -H—
ERFZEHATEDEHE. SRR v, LREDFLEANNDEEF BIZ(E, HEROFTLARGE) DREMN

WE,
LEDBYREHYFEE A
£ A S|
£ FR
=4

R&EHE4




